FIRST TERM EXAMNATION (2024-25)

CLASS xf _ TANCY
MAX MARKS 80 Xl —accouN

GENERAL INSTRUCTIONS:
1. Attempt all the questions in the se
2. Weightage is given for neat and c|
3. Q1-20carries 1 mark each
Q 27-29 carries 4 marks each

TIME 3 HOURS

quence order

ear p'eSEntation of the answers
Q21-6 carries 3 marks each
Q 30-34 carries 6 marks each

}/ Main advantage of the analysis of Financia) statements is
a) To know the financial strength

b) To make a comparative sti
udy w her firms
c) To know the efficien .

cy of man t sk
d) All of the above "
\9;/ Presentation of financial Position better thap actual is known as o
a) Personal bias <) Window dressing &
b) Price level changes. d) All of the above #
Which of the following is limitation of analysis of financial statements 5 ’*t
a) Affected by personal bias c) Lack of qualitative analysis ,,f%s
/Q‘/ b) Affected by window dressing  g) All of the above By
In Debt Equity Debt ratio, Debt refers to '
a) Short term debts «) Shareholders’ funds
b) Long term debts d) Debentures and current liabiliti
/QS/ A company can issue 3
a) Equity shares c) Redeemable debeng_dre i

Qﬁ/ b) Redeemable preference shares d) All,ﬁo@he above
G

ain on Reissue of Forfeited shares is transferred to %

4) Capital reserve .. c) SUb:s_crIBéi:I capital
b) Called up capital d) None of the above
é/ Pick the odd one out : e ' '
A) Salary to partner ; a) Interest on partner’s Loan:
b) Manager’s commission® A Interest on partner’s capital
5 A v 'O s
§/ Interest on partner’s loan will be debitedto L4
a) Profit and loss Account ~ ¢)Partner’s current acc

b) Profit and loss Appropriation Account ¢
/ Distinguish between a Horizontal Analysis and Verti

Premium on Issue of share is a 2
a) Revenue loss
b) Capital loss
/

In the absence of a Partnership deed Intereston |
a) 12% per annum
b) 6% perannum

Models and designs appears in a Company’s Balan o Sheet
ZQ Current Investments ntangible ass
R/ INon ent Investments



COLUMN B
a)_Capita) Reserve

i) Securities premium reserve ¢an be
used for

ii) Profit on reissue of forfeited shar

transferred to

es isX

\

b) Statement of profit or loss

Paying premium on
h preference shares
~ Which of the following items is dealt throug! P;gﬂt and Loss Account
4) Interest on Partner’s Loan )‘ artner’s Salary
¢l Interest on Partner’s Capital mpaﬂner’s Commission

QAam is a partner in a firm. She withdre\:/t 2020 3t the beginning of each guarter during (1)
<§ r)the year ended 31 March 2022. Interé er drawing at the rate of 10% periannum

it~ willbe

47900 b)600  C)X1500  g)z1200
)16/;\, B and C are partners in the ratio of 1:1:1 A has given to ¢ a guarantee of minimum (1)

7 t

10000 profit. For the year ending 31% March 2022 firms profit is ¥24,000. A share in
5 profit will be

e a) 76000 b) 10,000  ¢)%7200 d) ¥12,000

4 READ THE INSTRUCTION FOR QUESTION NO. 17,18 & 19

Given belpw are two statements in each question, one labelled as Assertion (A) and the other labelled as

Assertion (A): Dividend received by a finance company is a part of normal busin
Reason (R) : It will be a part of Operating Activities. (1)
Choose the correct option
a) Assertion (A) and Reason (R) are correct but (R) is not the correct
b)- Both Assertion and reason are correct and Reason is the corl
Assertion.
c) Only Assertion is correct. i
d) Both Assertion and Reason are not correct

redemption of

(1)

ess.t1) (1)

explanation of (A)
rect explanation of the

Assertion (A) : Shares are issued for purchase of Assets.

(1) <
Reason (R) : Issue of Shares for purchase of Assets is not shown in the Cash Flow b :
Statement. oo
Choose the correct option A
a) Assertion (A) and Reason (R) are correct but (R) is not the correct explanation of (A) :;
b) Both Assertion and reason are correct and Reason is the correct explanation of the : |
" Assertion.
¢) Only Assertion is correct.
J) Both Assertion and Reason are not correct.
9 Assertion: (A) Transfer to reserve is shown in P & L account/ ) (2)
Reason: (R) Reserves are charged against profits. ( £/
Choose the correct option
a) Assertion (A) and Reason (R) are correct but (R) is not the correct explanation of (A)
b) Both Assertion and reason are correct and Reason is .the correct explanation of the ‘
Assertion. :
€) Only Assertion is correct
<) Both Assertion and Reason are not correct. g
20" For the firm interest on partner’s | (1)
Capital Payment  B). gt - ©loss ”

d) Expense
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account of a non-finance campany (%) 1,
Q21 Under which head ln the statemant of Profig and L0% "

'y
- shown? "6’ y
~ the following [tems Wil A d) Profit on sal® of an Assat y' ,'] /

o) Sale of goods pank loan

Salary @) Interest pald 0"
payment of 58 - wil,
l-)) Change In [nventory f) Amortization of 809 ()
b : na Ltd. for o sum of €60, 00,000, i
a

hased o running business from r

~ Lakhan Ltd, purchasec )
#!‘m assots and llabllities conslsted of the following = O ’r
puilding <1 8, 00,000  Trade recelvables ®3,50,000 nve : =
Furniture X 12, 50,000 and Bank Loan £3,50,000 —  190% 00"

f €100 ot *
Arvind pald €5,00,000 by bank draft and balance by 155U/NB daberiure j"%%—"ﬁ

premium of ¥34 t//

Pass entrles In the books of Lakhan Ltd,

n (3
X, Y and Z are partners sharing In 3:2:1. They decide to share equally In future. Goodwill (3) /}
&

already appears at €60,000, At the time of change In profiting Sh‘"'“.ﬂ ""’:"OL' Go:g:::l::r:w
valued at ¥1,20,000, General Reserve appears at ¥2,40,000. profit and Loss (oo

(Debit balance) ¥1,20,000. Work-man compensation Reserve appears at !60'0‘00' Promg}ogﬂ;f’%
on revaluation of Assets and Liabllitles Is ¥1,20,000. Pass necessary Journal Entries. u oV o

Calculate the amount of Opening and Closing Trade Recelvables from‘;he following: (3) |'l_’°~'
Trade Recelvables Turnover Ratio: 6 Times /U\b o"fo )
Cost of Revenue from Operations ¥6,00,000 W ‘7\V < ,/
Gross Profit Ratio: 20% on cost A}p 1/) v
Cash Revenue from Operations belng 25% of total Revenue from Operations 9L
Opening Trade Receivables were 1/4" of Closing Trade Receivables \
Following information Is given to you: (3')
) Inventory Turnover Ratio 5 Times . :
Inventory at the end is ¥5,000 more than the inventory in the beginning
Revenue from Operations (all credits) 2,00,000 U‘{o
) Gross Profit Ratio % on cost q/g‘%&;‘:‘fo

Current Liabilities ¥60,000
Quick Ratio 0.75 g?\/
Calculate i) Cost of Revenue from Operations , ii) Opening Inventory and Closing

inventory , and (lii) Quick Assets and Current Assets. \

Q Calculate Tax provision made during the year from the following information — (3)
2023 2022 m }b 6\,,&
Provision for tax % 40,000 R 30,000 ( Ooﬂ? ﬁ
ADJUSTMENTS: - Tax paid during the year X 25,000, \ ) (')
/;/Calculate the amount of Machinery purchased during the year — v UAA)
2023 2022 Y s 5
Machinery % 1, 50,000 % 1,000,000 $
Accumulated Depreciation (30,000) (20,000) «/05 o
ADJUSTMENTS: - A part of the Machinery costing ® 30,000 (Accumulated Depreciation
20,000) sold at 10% profit on the book value. )a

Q27 Mr. Ram is running a store and has the following data, guide him regarding calculation of (4)
Inventory turnover ratio from the following & also gulde how the transactions (a), (b) &

ove (c) will affect the ratio: y’_ﬂ
°/ Purchases % 9,00,000 ClosIng Inventory ® 10,000 E’—-’;s q-v\
0 g°° ppenlng inventory X 30,000 " 0-0/0 (0-500"’ 7

! . ,b 90%,
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RN SENIR TR Whieh of the following transactlo
AN NORNRE Inreate ot decrease the lnvent
A) Sk of goas for € 9,000 (cost € 8,000)
) Icrease in the value of closing Inventory by X 9,000
) Goods purchased for € 10,000

Q3F A purchased the business of & on 1" April, 2023, F
y Valued at SON of the average annual profits of the las
8's business for the last four years were:
Year ended

31% March, 2019 Profit ¥4, 00,000 (after deb"ﬂm loss of stock by fire ¥50,000)

31% March, 2020 Loss 1,50,000(includes voluntary retirement mpensation
Paid T80, 000) ool Hegate

31% March, 2021 Profit 1,50,000  (0?eTO_ | 6rs0

31" March, 2022 Profit 2,00,000

p» Verification of books of accounts revealed the following:
/ /
/

NS would 1) Increase | d .
Oty Wirnover ratlo )»}W

or this purpose goodwill Is to=i'l :
t four years. The profits shown by

i) During the year ended 31* March, 2020, a machine got destroyed in a

and 60,000 was written off as 10ss in profits and Loss Account.
i i) On 1% April, 2021, Two computers costing 250,000 each were purchased
were debited to Travelling Expense account on which depreciation is to

] charged 10% p.a. as per Straight Li od.
alculate the value of goodwill. -

Particulars 31* March 2023
/ Revenue from Operations ¥30,00,000
Other income (% of Revenue from Operations) _12%
Expenses (% of Operating Revenue) 70%

Tax Rate 20%

Following is the Balance Sheet of Hari Limited as at 31 March 2019;&;3 :"

PARTICULARS s 31" March 2020 - 31% March 20
I EQUITIES AND LIABILITIES

a) Shareholder' Funds

A) Share capital~" 13,00,000
B) Reserves and Surplus - 4,00,000
Non- Current UabmtieS/ ¥
Debentures g 4,40,000
b) Current liabilitles/ s _ .
Trade payable Vi 60,000 50,000

W T 220000 16,00,000
ﬁﬁsﬂs = ’
Non-Current Assets

Building o 13,50,000 9,00,000
Current Assets
Short Term Investment % 2,00,000
Trade Receivables~
Cash and Cash Equivalents

“OUNTANCY



ADDITIONAL INFORMATION; 9
The company paid interest 240,000 o : { om’
M Interim dividend paid 20,000 dunn:':_"‘“ oeli A / o va 660
e yeat [ mount standig Greh 20 ¢
?

[
P Kl 3
¥/ Depreciation charged on Buildlns was 103 (the ,{'/l
; 4

%pare a Cash flow statement.
Give journal entries for the issue of pa, following conditions.
e in the 10
iy(ssuw 5,000 10% Debentures of gypg ogch at par, redeemable at par. 9 ‘
) lssuec.i 5,000 12% Debentures %100 each at 2 discount of 5%, redeemable at 20%16°é)‘ 9

premium

issued 6,000 12% Debentures 10% premium, redeemable at 5% 'l/s‘x,

premium: of {’100 each at P ’ ~ .
Issued 7,000 12% Debentures of %19g each at 2 discount of 2% redeemable at a

premium of 10%.
Issued 8,000 20% i x
O 2 Debentures 0% premium, redeemable at 10%
premium. of R100 each 2t : P (44
6§/‘ =

\
O oo
9 & ﬁ Issued 9,000 10% Debentures at pa able at 10% premium.
Z 5 : par, redeem ﬁ
Arun Ltd. incorporated with 20, 00,000 shares of %10 each. The Company issuwﬁ
.”7/' mooo shares and the public applied for zg, 00,000- Amount is payable as- g

= X2.50 on Application g 24

017‘ x 2L
%2.50 on Allotment %0 % A Iz 4
> v Balance on First and final cal) &
L% {0 Ashok a holder of 1,400 shares did not pay from allotment onwards. His shares were

“Aorfeited and reissued to Sohan, giving him maximum discount on reissue under the

ompanies Act. Pass Journal entries in the books of the company-
h. The company issued 5,00,000 (6)

7
“ @33 Guru Ltd incorporated with 10,00,000 shares of <10 eac

shares at 10% premium payable as follows. R“ P
% 3 on Application it - go—n‘b

% 4 on Allotment
Balance on first and final call. Advonte = ‘1 (15
Applications for 1, 00,000 shares were rejected ﬁo’b

~oThe public applied for 7,00,000 shares.
Hari who had applied for 6,000 !

4nd allotment was made to the rest on pro-rata basis.
shares failed to pay from allotment onwards and Ravi, holder of 1,000 shares failed to
4 final call. All the shares were forfeited after the final call. q/\g,

pay the first an
4,000 shares were Reissued @ X 11 per share including all shares of Ravi.

pa<s Jofirnal entries in the books of the company.
u are informed that (i) A draws 34,000 from

A, B and C are partners in a firm. Yo
firm at the end of every month, (i) B draws 4,000 from the firm at the middle of every
month and (iii) C draws 34,000 from the firm in the beginning of every month. Interest
st on partner’s drawings.

on drawing is to be charged @ 9% per annum. Calculate intere
B) The partners of a firm distributed the profits for the year ended 31" March 2013
§0S

75,000 in the ratio 3:2:1 without providing for the following adjustments:
7’)/

° i) AandBwere entitled to a salary of €3,000 each p.a.
6 ii) Bwas entitled toa commission of 5,000
fﬁii) profits were to be shared in the ratio of 3:3:2
pass an adjustment entry for the above. @ (3 43=6)




